Wednesday, October 8, 2025 A

EE 381 Electric and Magnetic Fields Quiz #5 (Fall 2025)
Name Le y ,/4

Instructions: Closed book & notes. Place answers in indicated spaces and show all work for full/partial credit.

Useful equations: d/ = dx a +dva,+dza.=dpa,+pdga,+dza,=dra, +rdf a, +rsinf dg a,

The path C goes radially from the origin to point 4(3 m, 1.57, 0) on the -y-axis and then on an arc of constant
it
radius from point 4 to point B(3 m, 0, 0) on the +x-axis in the direction of increasing ¢.

a) Sketch, with labels, the path C.
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b) For the vector field L =-7p singa, +2pa, +6za, (Lemurs/m), compute Ledl .
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Wednesday, October 8, 2025 B

EE 381 Electric and Magnetic Fields Quiz #5 (Fall 2025)
Name lﬂ v/

Instructions: Closed book & notes. Place answers in indicated spaces and show all work for full/partial credit.

Useful equations: d/ =dx a, +dy a,+dza,=dpa,+pdpa,+dza, =dra, +rdf a,+rsinfdg a,

The path L goes radially from the origin to point 4(3m, 0.5, 0) on the +y-axis and then on an arc of constant

radius from point 4 to point B(3 m, w, 0) on the -x-axis in the direction of increasing ¢.
A——————

a) Sketch, with labels, the path L.
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b) For the vector field M = Spsinga,—6pa, —4za, (Meerkats/m), compute Medl .
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